
Příloha č. 1 - Protokoly výpočtu 

STRŽ 2 
Stan [km] Profil / křivka         Hk[m]     H[m]   Z[mnm] Dno[mnm]   L[mnm]   P[mnm]   A[mnm]   B[mnm]  v[m/s]  Q[m^3/s]  DzetaV/S 

  0.000000 1                                0.66       0.65    265.80     265.15       266.66     269.67     267.09     267.08     1.715     1.120       0.0500 S 

  0.030000 2                                0.68       0.68    269.03     268.35       272.60     274.40     272.28     272.62     1.695     1.120       0.0500 S 

  0.060000 3                                0.69       0.76    270.86     270.10       275.35     278.50     275.05     277.35     1.380     1.120       0.6000 V 

  0.079210 přehrážka 1             0.71      0.72    272.60     271.88        278.50     283.00     277.68     276.11     1.647     1.120       0.0500 S 

  0.079220 přehrážka 1             0.16      0.16    274.17     274.01        278.50     283.00     277.68     276.11     1.225     1.120       0.0500 S 

  0.080820 přehrážka 1             0.17       0.20   274.21     274.01        278.75     283.20     277.88     276.27     1.050     1.120       0.0500 S 

  0.080830 přehrážka 1             0.71      2.26    274.27     272.01        278.75     283.20     277.88     276.27     0.173     1.120       0.6000 V 

  0.090000 4                                0.41      1.46    274.27     272.81        280.27     283.93     279.15     276.99     0.311     1.120       0.6000 V 

  0.120000 5                                0.67      0.78    277.28     276.50        284.00     287.90     283.60     287.80     1.239     1.120       0.6000 V 

  0.129360 přehrážka 2             0.54      0.27    277.86     277.59        285.56     289.56     285.13     289.43     5.984     1.120       0.0500 S 

  0.129370 přehrážka 2             0.14      0.14    279.91     279.77        285.56     289.56     285.13     289.43     1.133     1.120       0.0500 S 

  0.130970 přehrážka 2             0.14      0.18    279.95     279.77        285.81     289.82     285.37     289.68     0.840     1.120       0.0500 S 

  0.130980 přehrážka 2             0.53       2.22    279.99     277.77       285.81     289.82     285.37     289.68     0.116     1.120       0.6000 V 

  0.150000 6                                0.72       0.63    280.63     280.00       289.00     293.20     288.50     293.00     2.281     1.120       0.6000 V 

  0.156320 přehrážka3              0.69       0.35    281.73     281.38       290.81     294.13     290.40     293.95     6.515     1.120       0.0500 S 

  0.156330 přehrážka3              0.15       0.15    283.85     283.70       290.81     294.13     290.40     293.95     1.173     1.120       0.0500 S 

  0.157930 přehrážka3              0.15       0.19    283.89     283.70       291.24     294.35     290.85     294.17     0.879     1.120       0.0500 S 

  0.157940 přehrážka3              0.70       2.23    283.93     281.70       291.24     294.35     290.85     294.17     0.164     1.120       0.6000 V 

  0.175280 přehrážka4              0.73       0.37    285.88     285.51       296.25     296.91     296.09     296.79     6.497     1.120       0.0500 S 

  0.175290 přehrážka4              0.16       0.16    287.99     287.83       296.25     296.91     296.09     296.79     1.187     1.120       0.0500 S 

  0.176890 přehrážka4              0.17       0.19    288.02     287.83       296.68     297.13     296.54     297.02     1.105     1.120       0.0500 S 

  0.176900 přehrážka4              0.71       2.25    288.08     285.83       296.68     297.13     296.54     297.02     0.171     1.120       0.6000 V 

  0.180000 7                                0.70       1.55    288.08     286.53       297.60     297.60     297.50     297.50     0.341     1.120       0.6000 V 

  0.193970 přehrážka5              0.67       0.34    290.05     289.71       301.25     299.74     300.60     299.18     6.462     1.120       0.0500 S 

Stan [km] Profil / křivka         Hk[m]     H[m]   Z[mnm] Dno[mnm]   L[mnm]   P[mnm]   A[mnm]   B[mnm]  v[m/s]  Q[m^3/s]  DzetaV/S 

  0.193980 přehrážka5              0.14       0.14    292.19     292.05       301.25     299.74     300.60     299.18     1.127     1.120       0.0500 S 

  0.195580 přehrážka5              0.15       0.17    292.22     292.05       301.30     299.97     300.70     299.36     1.043     1.120       0.0500 S 

  0.195590 přehrážka5              0.66       2.22    292.27     290.05        301.30     299.97     300.70     299.36    0.146     1.120       0.6000 V 

  0.210000 8                                0.70       0.55    294.52     293.97        303.00     302.20     302.20     301.11     2.750     1.120       0.6000 V 

  0.212520 přehrážka6              0.70       0.36    294.87     294.51        303.27     302.79     302.54     301.68     6.635     1.120       0.0500 S 

  0.212530 přehrážka6              0.15       0.15    297.05     296.90        303.27     302.79     302.54     301.68     1.168     1.120       0.0500 S 

  0.214130 přehrážka6              0.16       0.17    297.07     296.90        303.43     303.14     302.73     302.02     1.152     1.120       0.0500 S 

  0.214140 přehrážka6              0.70       2.24   297.14     294.90        303.43     303.14     302.73     302.02     0.164     1.120       0.6000 V 



  0.231260 přehrážka7              0.62       0.32    297.76     297.44        305.27     307.16     305.03     305.90     5.920     1.120       0.0500 S 

  0.231270 přehrážka7              0.13       0.13    299.81     299.68        305.27     307.16     305.03     305.90     1.077     1.120      0.0500 S 

  0.232870 přehrážka7              0.13       0.16    299.84     299.68        305.43     307.51     305.24     306.24     0.936     1.120       0.0500 S 

  0.232880 přehrážka7              0.62       2.21    299.89     297.68        305.43     307.51     305.24     306.24     0.128     1.120       0.6000 V 

  0.240000 9                                0.59       0.41    300.44     300.03        306.20     309.20     306.20     307.87     3.308     1.120       0.6000 V 

  0.251010 přehrážka8              0.63       0.33    302.00     301.67        308.13     310.67     307.95     309.21     5.879     1.120       0.0500 S 

  0.251020 přehrážka8              0.13       0.13    304.03    303.90         308.13     310.67     307.95     309.21     1.100     1.120       0.0500 S 

  0.252620 přehrážka8              0.14       0.16    304.06     303.90        308.43     310.86     308.20     309.40     0.952     1.120       0.0500 S 

  0.252630 přehrážka8              0.63       2.21    304.11     301.90        308.43     310.86     308.20     309.40     0.132     1.120       0.6000 V 

  0.270000 10                              0.70       0.61    305.11     304.50        311.50     313.20     311.00     311.55     2.206     1.120       0.6000 V 

  0.274310 přehrážka9              0.72       0.38    305.54     305.16        312.14     313.68     311.64     312.06     6.409     1.120       0.0500 S 

  0.274320 přehrážka9              0.16       0.16    307.56     307.40        312.14     313.68     311.64     312.06     1.217     1.120       0.0500 S 

  0.275920 přehrážka9              0.17       0.19    307.59     307.40        312.36     313.84     311.88     312.23     1.104     1.120       0.0500 S 

  0.275930 přehrážka9              0.72      2.26     307.66     305.40        312.36     313.84     311.88     312.23     0.175     1.120       0.6000 V 

  0.297270 přehrážka10            0.65       0.34    309.11     308.77        315.59     316.20     315.08     314.78     6.014     1.120       0.0500 S 

  0.297280 přehrážka10            0.14       0.14    311.13     310.99        315.59     316.20     315.08     314.78     1.134     1.120       0.0500 S 

  0.298880 přehrážka10            0.15       0.17    311.16     310.99        315.81     316.36     315.31     314.96     0.979     1.120       0.0500 S 

  0.298890 přehrážka10            0.65       2.22    311.21     308.99        315.81     316.36     315.31     314.96     0.141     1.120       0.6000 V 

  0.300000 11                              0.68       0.68    309.79     309.11        316.00     316.50     315.50     315.10     1.688     1.120       0.0500 S 

  0.330000 12                              0.67       0.67    312.67     312.00        318.80     319.80     318.60     318.80     1.667     1.120       0.0500 S 

  0.390000 14                              0.49       0.49    320.40     319.91        330.00     331.50     329.50    330.89      1.429     1.120 

   

STRŽ 3 
Stan [km] Profil / křivka         Hk[m]     H[m]   Z[mnm] Dno[mnm]   L[mnm]   P[mnm]   A[mnm]   B[mnm]  v[m/s]  Q[m^3/s]  DzetaV/S 

  0.000000 1                              0.69       0.49      260.39     259.90       261.50     263.50     261.06     259.90   3.364       1.140       0.0500 S 

  0.030000 2                              0.36       0.28      263.70     263.42       267.07     266.50     265.85     265.35   2.144       1.140       0.6000 V 

  0.043500 2a                            0.41       0.30      264.85     264.55       269.65     267.76     267.21     265.35   2.383       1.140       0.0500 S 

  0.060000 3                              0.44       0.36      266.66     266.30       272.81     269.00     268.66     267.92   1.965       1.140       0.6000 V 

  0.090000 4                              0.22       0.11      268.15     268.04       275.95     272.98     272.30     271.86   3.075       1.140       0.0500 S 

  0.120000 5                              0.60       0.42      272.66     272.24       279.47     278.70     276.17     276.70   3.066       1.140       0.0500 S 

  0.150000 6                              0.68       0.62      277.57     276.95       284.95     282.20     282.68     282.16   2.049       1.140       0.6000 V 

  0.156630 přehrážka 5           0.71       0.38      278.37     277.99       286.41     284.15     284.50     284.05   6.175       1.140       0.0500 S 

  0.156640 přehrážka 5           0.15       0.15      280.39     280.24       286.41     284.15     284.50     284.05   1.197       1.140       0.0500 S 

  0.158240 přehrážka 5           0.17       0.18      280.42     280.24       286.74     284.59     284.92     284.48   1.194       1.140       0.0500 S 

  0.158250 přehrážka 5           0.72       2.25      280.49     278.24       286.74     284.59     284.92     284.48   0.180       1.140       0.6000 V 

  0.180000 7                              0.64       0.41      282.05     281.64       291.47     290.90     290.86     290.65   3.937       1.140       0.6000 V 

  0.180760 přehrážka 6           0.64       0.33      282.12     281.79       291.58     291.06     290.93     290.80   6.426       1.140       0.0500 S 



  0.180770 přehrážka 6           0.13       0.13      284.23     284.10       291.58     291.06     290.93     290.80   1.094       1.140       0.0500 S 

  0.182370 přehrážka 6           0.14       0.16      284.26     284.10       291.80     291.35     291.12     291.09   0.998       1.140       0.0500 S 

  0.182380 přehrážka 6           0.64       2.21      284.31     282.10       291.80     291.35     291.12     291.09   0.139       1.140       0.6000 V 

  0.200670 přehrážka 7           0.62       0.31      286.03     285.72       294.37     294.81     293.12     294.51   6.224       1.140       0.0500 S 

  0.200680 přehrážka 7           0.12       0.12      288.17     288.05       294.37     294.81     293.12     294.51   1.056       1.140       0.0500 S 

  0.202280 přehrážka 7           0.13       0.15      288.20     288.05       294.61     295.10     293.29     294.82   0.977       1.140       0.0500 S 

Stan [km] Profil / křivka         Hk[m]     H[m]   Z[mnm] Dno[mnm]   L[mnm]   P[mnm]   A[mnm]   B[mnm]  v[m/s]  Q[m^3/s]  DzetaV/S   

  0.202290 přehrážka 7           0.61       2.20      288.25     286.05       294.61     295.10     293.29     294.82   0.125       1.140       0.6000 V 

  0.210000 8                              0.65       0.68      288.25     287.57      295.69      296.55     294.13     296.25   1.529       1.140       0.6000 V 

  0.222160 přehrážka 8           0.66       0.34      289.39     289.05       297.01     298.40     295.68     297.94   6.153       1.140       0.0500 S 

  0.222170 přehrážka 8           0.14       0.14      291.38     291.24       297.01     298.40     295.68     297.94   1.152       1.140       0.0500 S 

  0.223770 přehrážka 8           0.15       0.18      291.42     291.24       297.18     298.64     295.88     298.15   0.948       1.140       0.0500 S 

  0.223780 přehrážka 8           0.66       2.23      291.47     289.24       297.18     298.64     295.88     298.15   0.145       1.140       0.6000 V 

  0.240000 9                              0.76       0.73      291.92     291.19       298.96     301.10     297.96     300.40   1.841       1.140       0.6000 V 

  0.248600 přehrážka 9           0.79       0.42      292.66     292.24       300.73     303.39     299.69     302.66   6.358       1.140       0.0500 S 

  0.248610 přehrážka 9           0.19       0.19     294.63      294.44       300.73     303.39     299.69     302.66   1.336       1.140       0.0500 S 

  0.250210 přehrážka 9           0.20       0.24      294.68     294.44       301.06     303.79     300.00     303.09   1.126       1.140       0.0500 S 

  0.250220 přehrážka 9           0.79       2.31      294.75     292.44       301.06     303.79     300.00     303.09   0.217       1.140       0.6000 V 

  0.270000 10                            0.81       0.76      295.60     294.84       305.15     309.00     303.96     308.26   2.129       1.140       0.6000 V 

  0.274900 přehrážka 10         0.84       0.46      296.09     295.63       306.01     310.13     304.80     309.22   6.375       1.140       0.0500 S 

  0.274910 přehrážka 10         0.19       0.19      298.08     297.89       306.01     310.13     304.80     309.22   1.310       1.140       0.0500 S 

  0.276510 přehrážka 10         0.20       0.22      298.11     297.89       306.30     310.54     305.06     309.53   1.197       1.140       0.0500 S 

  0.276520 přehrážka 10         0.80       2.30      298.19     295.89       306.30     310.54     305.06     309.53   0.224       1.140       0.6000 V 

  0.300000 11                            0.82       0.82      300.48     299.66       310.40     316.00     308.98     314.10   1.884       1.140 

STRŽ 4 
Stan [km] Profil / křivka         Hk[m]     H[m]   Z[mnm] Dno[mnm]   L[mnm]   P[mnm]   A[mnm]   B[mnm]  v[m/s]  Q[m^3/s]  DzetaV/S 

  0.000000 1                              0.23        0.18      269.35      269.17      270.67      270.00   269.42      270.00   1.669     0.800        0.6000 V 

  0.030000 2                              0.36        0.30      273.64      273.34      275.05      275.00   273.54      273.69   2.054     0.800        0.6000 V 

  0.060000 3                              0.54        0.45      278.36      277.91      279.30      283.60   278.60      278.49   2.107     0.800        0.0500 S 

  0.090000 4                              0.51        0.44      284.14      283.70      289.92      287.98   285.92      284.94   1.954     0.800        0.6000 V 

  0.093740 přehrážka 1           0.51        0.29      284.77      284.48      290.54      288.65   286.75      285.68   4.450     0.800        0.0500 S 

  0.093750 přehrážka 1           0.12        0.12      285.85      285.73      290.54      288.65   286.75      285.73   1.150     0.800        0.6000 V 

  0.095350 přehrážka 1           0.15        0.15      285.88      285.73      290.71      288.82   287.01      285.91   1.151     0.800        0.0500 S 

  0.095360 přehrážka 1           0.50        1.21      285.94      284.73      290.71      288.82   287.01      285.91   0.249     0.800        0.6000 V 

  0.103740 přehrážka 2           0.48        0.27      286.86      286.59      290.95      288.89   289.15      288.02   4.632     0.800        0.0500 S 

  0.103750 přehrážka 2           0.12        0.11      288.03       287.92      290.95     288.89   289.15      288.02   1.107     0.800        0.6000 V 

  0.105350 přehrážka 2           0.14        0.14      288.06      287.92      291.28      289.22   289.48      288.35   1.116     0.800        0.0500 S 



  0.105360 přehrážka 2           0.48       1.20       288.12      286.92      291.28      289.22   289.48      288.35   0.231     0.800        0.6000 V 

  0.113740 přehrážka 3           0.32        0.16      288.53      288.37      293.80      292.10   291.27      289.53   4.621     0.800        0.0500 S 

  0.113750 přehrážka 3           0.10        0.10      289.77      289.67      293.80      292.10   291.27      289.67   0.969     0.800        0.6000 V 

  0.115350 přehrážka 3           0.12        0.12      289.79      289.67      294.10      292.40   291.57      289.83   0.986     0.800        0.0500 S 

  0.115360 přehrážka 3           0.32        1.17      289.84      288.67      294.10      292.40   291.57      289.83   0.161     0.800        0.6000 V 

  0.120000 5                              0.32        0.37      289.84      289.47      294.90      293.20   292.37      290.63   1.033     0.800        0.6000 V 

Stan [km] Profil / křivka         Hk[m]     H[m]   Z[mnm] Dno[mnm]   L[mnm]   P[mnm]   A[mnm]   B[mnm]  v[m/s]  Q[m^3/s]  DzetaV/S 

 0.123750 přehrážka 4            0.25        0.10      290.15      290.05      295.20      293.80    293.08      291.30   4.845     0.800        0.0500 S 

  0.123760 přehrážka 4           0.10        0.10      291.39      291.29      295.20      293.80   293.08      291.29   0.963     0.800        0.0500 S 

  0.125360 přehrážka 4           0.11        0.13      291.42      291.29      295.40      294.10   293.39      291.61   0.857     0.800        0.0500 S 

  0.125370 přehrážka 4           0.25        1.17      291.46      290.29      295.40      294.10   293.39      291.61   0.139     0.800        0.6000 V 

  0.133750 přehrážka 5           0.29        0.14      291.79      291.65      296.55      295.40   294.36      292.96   4.566     0.800        0.0500 S 

  0.133760 přehrážka 5           0.10        0.10      293.01      292.91      296.55      295.40   294.36      292.96   0.991     0.800        0.0500 S 

  0.135360 přehrážka 5           0.12        0.13      293.04      292.91      296.70      295.90   294.56      293.22   0.902     0.800        0.0500 S 

  0.135370 přehrážka 5           0.31        1.18      293.09      291.91      296.70      295.90   294.56      293.22   0.157     0.800        0.6000 V 

  0.143750 přehrážka 6           0.22        0.08      293.31      293.23      297.80      297.10   295.86      294.71   4.810     0.800        0.0500 S 

  0.143760 přehrážka 6           0.11        0.11      294.58      294.47      297.80      297.10   295.86      294.71   1.003     0.800        0.0500 S 

  0.145360 přehrážka 6           0.11        0.14      294.61      294.47      298.20      297.10   295.89      294.99   0.785     0.800        0.0500 S 

  0.145370 přehrážka 6           0.18        1.18      294.65      293.47      298.20      297.10   295.89      294.99   0.129     0.800        0.6000 V 

  0.150000 6                              0.23        0.44      294.65      294.21      298.60      298.04   296.55      295.80   0.638     0.800        0.6000 V 

  0.153740 přehrážka 7           0.31        0.13      294.96      294.83      299.40      298.00   297.07      296.45   4.999     0.800        0.0500 S 

  0.153750 přehrážka 7           0.12        0.12      296.29      296.17      299.40      298.00   297.07      296.45   1.075     0.800        0.0500 S 

  0.155350 přehrážka 7           0.14        0.15      296.32      296.17      299.60      299.20   297.30      296.77   1.021     0.800        0.0500 S 

  0.155360 přehrážka 7           0.31        1.21      296.38      295.17      299.60      299.20   297.30      296.77   0.191     0.800        0.6000 V 

  0.180000 7                              0.48        0.48      300.90      300.42      303.73      303.00   301.15      301.27   1.437     0.800 


